
 

 

 

 

 

 

 

 

UWE = ................ V  bez sprzężenia ze sprzężeniem 

f log f UWY K UWY K 
L.p 

[Hz] - [V] [V/V] [V] [V/V] 

1 20      

2       

3       

4       

5       

6       

7       

8       

9       

10       

11       

12       

13       

14       

15       

16       

17       

18       

19       

20       

21       

22       

23       

24 100 000      

 

 

 

Podpis prowadzącego: 

Data 

wykonania: 
1. 

2. 

3. 

4. 

5. 

6. 

Sprzężenie zwrotne 


